MathCity.org

Merging man and maths

Exercise 6.2 (Solutions)

Textbook of Algebra and Trigonometry for Class XI

Available online @ http://www.mathcity.org, Version: 2.0

Quo.1 i) a, = 5 and other three
consecutive terms are 23, 26, 29
Since a,=5 & d=26-23=3
Non 22=21+d = 5+3=8
$a_3 = a_2 + d = 8 + 3 = 11$
24 = 23 + d = 11 + 3 = 14
hence 5,8,11,14 are first
four terms of A.P

(Q_{NO} 2011) $a_5 = 17$ and $a_q = 37$ (consider a_1 be the first term and 'd' be the common difference.

Since
$$a_5 = 17$$

 $\Rightarrow a_1 + (5-1)d = 17$
 $\Rightarrow a_1 + 4d = 17 - (i)$
also $a_9 = 37$
 $\Rightarrow a_1 + (9-1)d = 37$
 $\Rightarrow a_1 + 8d = 37 - (ii)$
Subtracting (i) and (ii)
 $a_1 + 4d = 17$
 $a_1 + 8d = 37$
 $a_1 + 8d = 37$

putting value of d in (i) $a_1 + 4(5) = 17$

$$\Rightarrow a_1 + 20 = 17$$

$$\Rightarrow 2_1 = -3$$

So
$$a_2 = a_1 + d = -3 + 5 = 2$$

 $a_3 = a_2 + d = 2 + 5 = 7$

$$24 = 23 + d = 7 + 5 = 12$$

hence -3, 2, 7, 12 are first four terms of A.P.

iii) 327= 724 & 210=33
Suppose a, be the first term
and d be the common difference.
Since 307 = 704
\Rightarrow 3 (a ₁ +6d)=7(a ₁ +3d)
$\Rightarrow 3a_1 + 18d = .7a_1 + 21d$
$\Rightarrow 3a_1 + 18d - 7a_1 - 21d = 0$
$\Rightarrow -42, -3d = 0$
$\Rightarrow 4a_1 + 3d = 0 - (1)$
also $a_{10} = 33$
$\Rightarrow 2 + 9d = 33 - (11)$
ring eq. (ii) by 4 & subtracting
4/1 + 3d = 0
$4a_1 + 36d = 132$
-33d = -132
. 1 - 127 1

$$d = \frac{-132}{-33} = 4$$
putting value of d in (ii)
$$3_1 + 9(4) = 33$$

$$\Rightarrow a_1 + 36 = 33$$

 $\Rightarrow a_1 = 33 - 36 \Rightarrow a_1 = -3$

So
$$a_2 = a_1 + d = -3 + 4 = 1$$

$$a_3 = a_2 + d = 1 + 4 = 5$$

$$a_4 = a_3 + d = 5 + 4 = 9$$

$$Q_{NO.2} = 2n-5$$

$$\Rightarrow 2_{n-3} = 2n - 6 + 1$$

$$= 2(n-3) + 1$$

Answer

QNo3 Suppose 2, be the first	QNOS Same as QNO3
term and d be common	***************************************
difference of A.P.	(Qno 6
Since 25 = 16	5, 2, -1, 18, -85
=> 2,+4d=16	here 3, = 5
also 220 = 46	$d = a_2 - a_1 = 2 - 5 = -3$
$\Rightarrow 2_1 + 19d = 46 - (ii)$	$2_n = -85_n, n = 2_n$
Subtracting (i) & (ii)	Since
a/1+ Ad = 16	$a_n = a_1 + (n-1)d$
$a_1 + 19d = 46$	\Rightarrow -85 = 5 + (n-1)(-3)
$\frac{1}{-15d} = -30$	$\Rightarrow -85 = 5 - 3n + 3$
\Rightarrow $d = 2$	\Rightarrow 3n = 5 + 3 + 85
putting value of din (i)	$\Rightarrow 3n = 93$
$2_1 + 4(2) = 16$	\Rightarrow $n=31$ Answer
$\Rightarrow 2++8=16$	QNOT Same as above
$\Rightarrow a_1 = 16 - 8 \Rightarrow a_1 = 8$	out and about
Now	Qno8 2,=11, 2n=68.
Now 212 = 21+11d	d = 3 , $n = ?$
= 8 + 11(2)	Since $a_n = a_1 + (n-1)d$
= 8 + 22 = 30 Answe	$\Rightarrow 68 = 11 + (n-1) = 3$
0	Now solve yourself as above
(QNO.4	x -
$\chi_{1,2}-\chi_{3}-2\chi_{3}-2\chi_{3}$	WNO.9
here a = 1	Since $a_n = 3n - 1$
-and d = 2- 22,	$put n = 1$ $2_1 = 3(1) - 1 = 3 - 1 = 2$
= 11- ×	n = 2
Since 21,3 = 2,+12d	$a_2 = 3(2) - 1 = 6 - 1 = 5$
$= \frac{12(1-x)}{1-x}$	put $n=3$
= x + 12 - 12x	$2l_3 = 3(3) - 1 = 9 - 1 = 8$ put $n = 4$
@ 262000 A	24 = 3(4) - 1 = 12 - 1 = 11
=> 213 = 12 - 112 Asua	Thus
· · · · · · · · · · · · · · · · · · ·	2,5,8,11,
	is the required A.P
	√

```
(bnolo 17, 13, 9, .... i) L + s = l(q-r)+m(r-p)+n(p-q)
term of A.P. i.e an=-19 = (2,+pd-d)(q-r)+(2,+qd-q,)(r-p)
   Since an = a1+(n-1)d
   =) n=10
  Thus -19 is the 10th term
  of A.P.
 ii) Suppose 2 be the 11th
   term of A.P ie an=2
 Since a_n = a_1 + (n-1)d
    \Rightarrow 2 = 17 + (n-1)(-4)
       2 = 17 - 40 + 4
    \Rightarrow 4n = 17+4-2
           = 19
    \Rightarrow n = \frac{19}{14} which is
   a rational therefore & 2
  is not the term of A.P
 (DNO.11.
  Let a, be the first term
  and d be the common difference
 Now ap = lin
  \Rightarrow 2_1 + (p-1)d = 1
   \Delta q = m
 \Rightarrow a_1 + (q - 1)d = m
     2, r = 1 1 ... ...
 \Rightarrow a_1+(Y-1)d=n
```

```
a_1 = 17, d = 13 - 17 = -4 = [a_1 + (p-1)d](q-r) + [a_1 + (q-1)d](r-p)
1) Suppose -19 be the nth + [a,+(x-1)d](p-q)
                                                                                                       +(a_1+yd-d)(p-q)
         \Rightarrow -19 = 17 + (n-1)(-4) = aq + pqd - gd - ax - pxd + xd
  \Rightarrow -19 = 17 - 4n + 4 \ \ \pm \ \pm \ \pm \ \quad \quad \pm \ \quad \pm \quad \pm \ \quad \pm \ \quad \pm \ \quad \pm \quad \pm \quad \pm \ \quad \pm \quad \quad \pm \quad \pm \quad \pm \quad \pm \quad \pm \quad \pm \quad \quad \pm \quad \pm \quad \pm \quad \quad \pm \quad \pm \quad \quad \pm \quad \pm \quad \qquad \quad \quad \quad \quad \quad \qq \qq \quad \quad \quad \quad \qua
\Rightarrow 4n = 17+4+19 + 2p+pxd-pd-2q-qxd+gd
                                                                             = 0 = R.H.S proved
                                                                                                        (1) L. HS = p(m-n) + q(n-l) + Y(l-m)
                                                                                                           =p[x_1+(q-1)d-x_1-(y-1)d]
                                                                                                              + q [ x1+(Y-1)d - x1-(p-1)d]
                                                                                                              + Y [2/1+(p-1)d - 2/1-(q-1)d]
                                                                                                           = p[qd-d-rd+d]
                                                                                                                +9[rd-d-pd+d]
                                                                                                               + r [pd-X-qd+d]
                                                                                                             = pgd - pxd + gxd - pad
                                                                                                                + p/d - q/d = 0 = R.H-S
                                                                                                          (Qno.12
                                                                                                               (\frac{4}{3})^2, (\frac{1}{3})^2, (\frac{19}{3})^2, ....
                                                                                                           We first find the 1th term
                                                                                                             of 4,7,10, .....
                                                                                                                  a_1 = 4, d = 7 - 4 = 3
                                                                                                                 a_n = a_1 + (n-1)d
                                                                                                                                 = 4 + (n-1)3
                                                                                                                                 = 4 + 3n - 3 = 3n + 1
                                                                                                              hene nth term of
                                                                                                               diven sequence is (3n+1)^2
                                                                                                                                         P.T.o -
```

$$\begin{array}{cccc}
\hline
No.13 & Since & 1 & 1 & 1 & 2 & 2 & 2 \\
\hline
in A.P. & therefore & & & & & \\
d = \frac{1}{b} - \frac{1}{a} = \frac{1}{c} - \frac{1}{b} & & & \\
\Rightarrow & \frac{1}{b} + \frac{1}{b} = \frac{1}{a} + \frac{1}{c} & & \\
\Rightarrow & \frac{1+1}{b} = \frac{c+a}{ac} & & \\
\Rightarrow & \frac{2}{a} = \frac{a+c}{a+c} & & \\
\Rightarrow & \frac{2}{a+c} & & \frac{2ac}{a+c} & & \text{proved}
\end{array}$$

QNol4 Since
$$\frac{1}{a}$$
, $\frac{1}{b}$, $\frac{1}{c}$ ave in A.P therefore

$$d = \frac{1}{b} - \frac{1}{a} = \frac{1}{(1)}$$
also
$$d = \frac{1}{c} - \frac{1}{b} = \frac{1}{(1)}$$
(ampaning (i)) and (ii)
$$\frac{1}{b} - \frac{1}{a} = \frac{1}{c} - \frac{1}{b}$$

$$\Rightarrow \frac{1}{b} + \frac{1}{b} = \frac{1}{c} + \frac{1}{a}$$

$$\Rightarrow \frac{1+1}{b} = \frac{a+c}{ac}$$

$$\Rightarrow \frac{b}{a} = \frac{a+c}{a+c}$$

$$\Rightarrow \frac{b}{a} = \frac{a+c}{a+c}$$

$$\Rightarrow \frac{b}{a} = \frac{a+c}{a+c}$$
putting value of b in eq. (i)
$$d = \frac{1}{2ac} - \frac{1}{a} = \frac{a+c}{2ac} - \frac{1}{a}$$

$$= \frac{a+c-2c}{2ac} = \frac{a-c}{2ac}$$
Thence the common difference.



This PDF is shared under the licence Attribution-NonCommercial-NoDerivatives 4.0 International https://creativecommons.org/licenses/by-nc-nd/4.0/
Under this licence if you remix, transform, or build upon this PDF, you may not distribute the modified material.

For solutions of other exercise, MCQs, short questions and model papers, please visit our website